Description: Street Initiative Package #12

Specification No.: PW18-0210F

Bid Opening: 7/31/18

				ENGIN ESTIN			Bidder Cascade, Inc	#2 Bidder Puget Paving & Construction, Inc.	
Item	Description	Unit	Quantity	Unit Price	Amount	<b>Unit Price</b>	Amount	Unit Price	Amount
R1	Project Redline Drawings	LS	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$500.00	\$500.00
R2	SPCC Plan	LS	1	\$1,500.00	\$1,500.00	\$250.00	\$250.00	\$500.00	\$500.00
R3	Mobilization	LS	1	\$110,000.00	\$110,000.00	\$130,000.00	\$130,000.00	\$116,145.12	\$116,145.12
R4	Pedestrian Traffic Control	LS	1	\$21,000.00	\$21,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
R5	Project Temporary Traffic Control	LS	1	\$85,000.00	\$85,000.00	\$83,770.00	\$83,770.00	\$87,000.00	\$87,000.00
R6	Clearing and Grubbing	LS	1	\$5,000.00	\$5,000.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00
R7	Roadway Excavation Incl. Haul	CY	2,093	\$40.00	\$83,720.00	\$29.00	\$60,697.00	\$27.00	\$56,511.00
R8	Gravel Borrow Incl. Haul	CY	36	\$30.00	\$1,080.00	\$68.00	\$2,448.00	\$60.00	\$2,160.00
R9	Subgrade Maintenance and Protection	LS	1	\$5,000.00	\$5,000.00	\$72,875.00	\$72,875.00	\$2,500.00	\$2,500.00
R10	Structure Excavation Class B	CY	1,098	\$25.00	\$27,450.00	\$1.00	\$1,098.00	\$20.00	\$21,960.00
R11	Shoring or Extra Excavation Class B	SF	8,268	\$4.00	\$33,072.00	\$0.25	\$2,067.00	\$0.75	\$6,201.00
R12	Remove Existing Pavement, Type I, Class A	SY	18,125	\$7.50	\$135,937.50	\$5.00	\$90,625.00	\$6.00	\$108,750.00
R13	Remove Existing Pavement, Type I, Class C6	SY	676	\$30.00	\$20,280.00	\$10.00	\$6,760.00	\$30.00	\$20,280.00
R14	Remove Existing Pavement, Type II, Class CA	SY	181	\$40.00	\$7,240.00	\$22.00	\$3,982.00	\$35.00	\$6,335.00
R15	Remove Existing Pavement, Type II, Class T	SY	300	\$65.00	\$19,500.00	\$44.00	\$13,200.00	\$50.00	\$15,000.00
R16	Remove Curb	LF	1,205	\$20.00	\$24,100.00	\$4.00	\$4,820.00	\$13.00	\$15,665.00
R17	Remove Catch Basin	EA	9	\$450.00	\$4,050.00	\$350.00	\$3,150.00	\$750.00	\$6,750.00
R18	Remove Manhole	EA	2	\$600.00	\$1,200.00	\$715.00	\$1,430.00	\$1,100.00	\$2,200.00
R19	Crushed Surfacing Top Course	TN	242	\$65.00	\$15,730.00	\$35.00	\$8,470.00	\$22.00	\$5,324.00
R20	Crushed Surfacing Base Course	TN	1,416	\$30.00	\$42,480.00	\$26.00	\$36,816.00	\$22.00	\$31,152.00
R21	HMA CL 1/2" PG 58H-22, per ton	TN	3,221	\$95.00	\$305,995.00	\$78.00	\$251,238.00	\$82.00	\$264,122.00
R22	HMA for Approach CL 3/8" PG 58H-22	SY	223	\$40.00	\$8,920.00	\$45.00	\$10,035.00	\$46.00	\$10,258.00
R23	Cold Plant Mix for Temporary Pavement Patch	TN	19	\$225.00	\$4,275.00	\$185.00	\$3,515.00	\$200.00	\$3,800.00
R24	Adjust to Grade	EA	3	\$250.00	\$750.00	\$715.00	\$2,145.00	\$850.00	\$2,550.00
R25	Adjust Existing Catch Basin, Furnish new Frame and Grate	EA	13	\$800.00	\$10,400.00	\$715.00	\$9,295.00	\$600.00	\$7,800.00
R26	Adjust Existing Manhole	EA	22	\$800.00	\$17,600.00	\$715.00	\$15,730.00	\$1,025.00	\$22,550.00
R27	Adjust Existing Valve Chamber to Grade	EA	24	\$500.00	\$12,000.00	\$715.00	\$17,160.00	\$725.00	\$17,400.00
R28	Catch Basin Type 1	EA	15	\$1,500.00	\$22,500.00	\$1,575.00	\$23,625.00	\$3,500.00	\$52,500.00
R29	Catch Basin Type 2, 48 In. Diam.	EA	1	\$4,000.00	\$4,000.00	\$3,350.00	\$3,350.00	\$5,300.00	\$5,300.00

Combined Master Bid Tab - PW18-0210F

Description: Street Initiative Package #12

Specification No.: PW18-0210F

				ENGINEER'S Low Bidder ESTIMATE Northwest Cascade			#2 Bidder Puget Paving & Construction, Inc.		
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
R30	Manhole 48 In. Diam. Type 1	EA	4	\$5,000.00	\$20,000.00	\$4,300.00	\$17,200.00	\$6,900.00	\$27,600.00
R31	Manhole 60 In. Diam. Type 1	EA	1	\$8,000.00	\$8,000.00	\$5,850.00	\$5,850.00	\$11,300.00	\$11,300.00
R32	Manhole 48 In. Diam. Type 3	EA	1	\$5,000.00	\$5,000.00	\$4,100.00	\$4,100.00	\$6,200.00	\$6,200.00
R33	Manhole Additional Height 48 In. Diam. Type 1	LF	3	\$500.00	\$1,500.00	\$115.00	\$345.00	\$115.00	\$345.00
R34	Reconnect Existing Sewer Pipe, 8-In. Diam., to New Structure	EA	3	\$650.00	\$1,950.00	\$1,200.00	\$3,600.00	\$1,100.00	\$3,300.00
R35	Structure	EA	2.0	\$650.00	\$1,300.00	\$1,425.00	\$2,850.00	\$1,300.00	\$2,600.00
R36	Connect New Sewer Pipe, 12-In Diam., to Existing Structure	EA	2	\$500.00	\$1,000.00	\$2,258.00	\$4,516.00	\$1,950.00	\$3,900.00
R37	Connect New Sewer Pipe, 8-In Diam., to Existing Structure	EA	1	\$500.00	\$500.00	\$2,107.00	\$2,107.00	\$1,850.00	\$1,850.00
R38	Pothole Existing Utility	LF	15	\$100.00	\$1,500.00	\$100.00	\$1,500.00	\$200.00	\$3,000.00
R39	Abandon Existing Manhole	EA	1	\$1,200.00	\$1,200.00	\$850.00	\$850.00	\$3,500.00	\$3,500.00
R40	Plugging Existing Pipe	EA	1	\$500.00	\$500.00	\$300.00	\$300.00	\$525.00	\$525.00
R41	CDF for Pipe Abandonment	CY	8	\$85.00	\$680.00	\$275.00	\$2,200.00	\$750.00	\$6,000.00
R42	Temporary Storm Sewer Bypass	LS	1	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$3,200.00	\$3,200.00
R43	Temporary Storm Sewer Bypass plan	LS	1	\$500.00	\$500.00	\$250.00	\$250.00	\$1,000.00	\$1,000.00
R44	Removal and Replacement of Unsuitable Material Incl. Haul	CY	823	\$35.00	\$28,805.00	\$49.00	\$40,327.00	\$30.00	\$24,690.00
R45	Ductile Iron Sewer Pipe 8 In. Diam.	LF	16	\$70.00	\$1,120.00	\$78.00	\$1,248.00	\$200.00	\$3,200.00
R46	Ductile Iron Sewer Pipe 12 In. Diam.	LF	37	\$75.00	\$2,775.00	\$73.00	\$2,701.00	\$130.00	\$4,810.00
R47	PVC Storm Sewer Pipe 12 In. Diam.	LF	1,038	\$65.00	\$67,470.00	\$60.00	\$62,280.00	\$90.00	\$93,420.00
R48	Testing Sewer Pipe	LF	1,091	\$5.00	\$5,455.00	\$2.00	\$2,182.00	\$3.00	\$3,273.00
R49	Erosion/Water Pollution Control	LS	1	\$2,500.00	\$2,500.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00
R50	Stormwater Pollution Prevention Plan (SWPPP)	LS	1	\$750.00	\$750.00	\$250.00	\$250.00	\$500.00	\$500.00
R51	NPDES Construction Stormwater General Permit	LS	1	\$750.00	\$750.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00
R52	Site Restoration	LS	1	\$12,000.00	\$12,000.00	\$22,500.00	\$22,500.00	\$15,000.00	\$15,000.00
R53	Cement Conc. Traffic Curb and Gutter	LF	1,152	\$35.00	\$40,320.00	\$32.00	\$36,864.00	\$35.00	\$40,320.00
R54	Poured Monument	EA	2	\$800.00	\$1,600.00	\$600.00	\$1,200.00	\$1,325.00	\$2,650.00
R55	Cement Conc. Sidewalk	SY	306	\$60.00	\$18,360.00	\$94.00	\$28,764.00	\$80.00	\$24,480.00
R56	Cement Conc. Curb Ramp	EA	44	\$2,000.00	\$88,000.00	\$2,580.00	\$113,520.00	\$2,100.00	\$92,400.00

Description: Street Initiative Package #12

Specification No.: PW18-0210F

						NEER'S MATE	Low Bidder Northwest Cascade, Inc		#2 Bidder Puget Paving & Construction, Inc.	
Item	Description	Unit	Quantity	Unit Price		Amount	Unit Price	Amount	Unit Price	Amount
R57	Cement Conc. Curb Ramp with Asphalt Gutter	EA	6		\$1,500.00	\$9,000.00	\$3,045.00	\$18,270.00	\$2,100.00	\$12,600.00
R58	Permanent Signing	LS	1		\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00	\$11,000.00	\$11,000.00
	ROADWAY IMPROVEMENTS TOTAL (R1-R58)					\$1,359,314.50		\$1,309,325.00		\$1,329,876.12
SCHEDU	JLE B: WASTEWATER IMPROVEMENTS						-			
WW1	Project Redline Drawings	LS	1	\$	1,000.00	\$1,000.00	\$500.00	\$500.00	\$500.00	\$500.00
WW2	Mobilization	LS	1	\$	11,000.00	\$11,000.00	\$13,100.00	\$13,100.00	\$37,500.50	\$37,500.50
WW3	Project Temporary Traffic Control	LS	1	\$	8,500.00	\$8,500.00	\$13,100.00	\$13,100.00	\$26,000.00	\$26,000.00
WW4	Structure Excavation Class B	CY	806	\$	25.00	\$20,150.00	\$2.50	\$2,015.00	\$20.00	\$16,120.00
WW5	Shoring or Extra Excavation Class B	SF	6,870	\$	4.00	\$27,480.00	\$0.50	\$3,435.00	\$1.85	\$12,709.50
WW6	Cold Plant Mix for Temporary Pavement Patch	TN	10	\$	225.00	\$2,250.00	\$170.00	\$1,700.00	\$200.00	\$2,000.00
WW7	Manhole 48 In. Diam. Type 1	EA	1	\$	5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$6,000.00	\$6,000.00
WW8	Reconnect Existing Sewer Pipe, 8-In. Diam., to New Structure	EA	1	\$	650.00	\$650.00	\$1,500.00	\$1,500.00	\$650.00	\$650.00
WW9	Connect New Sewer Pipe, 8-In Diam., to Existing Structure	EA	3	\$	500.00	\$1,500.00	\$2,150.00	\$6,450.00	\$1,750.00	\$5,250.00
WW10	Pothole Existing Utility	LF	15	\$	100.00	\$1,500.00	\$120.00	\$1,800.00	\$200.00	\$3,000.00
WW11	Temporary Sanitary Sewer Bypass	LS	1	\$	2,500.00	\$2,500.00	\$4,600.00	\$4,600.00	\$12,000.00	\$12,000.00
WW12	Temporary Sanitary Sewer Bypass plan	LS	1	\$	500.00	\$500.00	\$250.00	\$250.00	\$1,000.00	\$1,000.00
WW13	Removal and Replacement of Unsuitable Material Incl. Haul	CY	740	\$	35.00	\$25,900.00	\$49.00	\$36,260.00	\$30.00	\$22,200.00
WW14	PVC Sanitary Sewer Pipe 8 In. Diam.	LF	340	\$	60.00	\$20,400.00	\$86.00	\$29,240.00	\$335.00	\$113,900.00
WW15	Testing Sewer Pipe	LF	340	\$	5.00	\$1,700.00	\$1.00	\$340.00	\$7.50	\$2,550.00
WW16	Remove Existing Pavement, Type II, Class T	SY	290	\$	65.00	\$18,850.00	\$43.00	\$12,470.00	\$50.00	\$14,500.00
	WASTEWATER IMPROVEMENTS TOTAL(WW1-WW16)					\$148,880.00		\$131,260.00		\$275,880.00
	10.1 Sales Tax (WW1-WW16)					\$15,036.88		\$13,257.26		\$27,863.88
	WW TOTAL					\$163,916.88		\$144,517.26		\$303,743.88
	TOTAL BID (ROADWAY & WASTEWATER)					\$1,523,231.38		\$1,453,842.26		\$1,633,620.00
	SBE TOTAL (Less Sales Tax)					\$1,508,194.50		\$1,440,585.00		\$1,605,756.12

<sup>\*</sup> Correction made to Bid Item Total and/or Bid Total Amount

Description: Street Initiative Package #12

Specification No.: PW18-0210F

				#3 Bidder Ceccanti		#4 Bidder Miles Resources		#5 Bidder Tucci & Sons Inc	
Item	Description	Unit	Quantity	Unit Price	Amount	<b>Unit Price</b>	Amount	Unit Price	Amount
R1	Project Redline Drawings	LS	1	\$500.00	\$500.00	\$1,750.00	\$1,750.00	\$500.00	\$500.00
R2	SPCC Plan	LS	1	\$100.00	\$100.00	\$1,750.00	\$1,750.00	\$500.00	\$500.00
R3	Mobilization	LS	1	\$55,000.00	\$55,000.00	\$65,000.00	\$65,000.00	\$48,000.00	\$48,000.00
R4	Pedestrian Traffic Control	LS	1	\$5,000.00	\$5,000.00	\$17,628.00	\$17,628.00	\$27,000.00	\$27,000.00
R5	Project Temporary Traffic Control	LS	1	\$138,000.00	\$138,000.00	\$231,198.00	\$231,198.00	\$225,000.00	\$225,000.00
R6	Clearing and Grubbing	LS	1	\$10,000.00	\$10,000.00	\$8,800.00	\$8,800.00	\$1,500.00	\$1,500.00
R7	Roadway Excavation Incl. Haul	CY	2,093	\$32.00	\$66,976.00	\$22.00	\$46,046.00	\$56.60	\$118,463.80
R8	Gravel Borrow Incl. Haul	CY	36	\$41.00	\$1,476.00	\$51.00	\$1,836.00	\$50.00	\$1,800.00
R9	Subgrade Maintenance and Protection	LS	1	\$130,000.00	\$130,000.00	\$7,250.00	\$7,250.00	\$13,000.00	\$13,000.00
R10	Structure Excavation Class B	CY	1,098	\$34.00	\$37,332.00	\$22.00	\$24,156.00	\$10.75	\$11,803.50
R11	Shoring or Extra Excavation Class B	SF	8,268	\$1.00	\$8,268.00	\$1.13	\$9,342.84	\$0.10	\$826.80
R12	Remove Existing Pavement, Type I, Class A	SY	18,125	\$7.00	\$126,875.00	\$6.00	\$108,750.00	\$5.90	\$106,937.50
R13	Remove Existing Pavement, Type I, Class C6	SY	676	\$11.00	\$7,436.00	\$27.45	\$18,556.20	\$10.00	\$6,760.00
R14	Remove Existing Pavement, Type II, Class CA	SY	181	\$19.00	\$3,439.00	\$210.00	\$38,010.00	\$10.00	\$1,810.00
R15	Remove Existing Pavement, Type II, Class T	SY	300	\$72.00	\$21,600.00	\$125.00	\$37,500.00	\$70.00	\$21,000.00
R16	Remove Curb	LF	1,205	\$5.00	\$6,025.00	\$6.45	\$7,772.25	\$11.00	\$13,255.00
R17	Remove Catch Basin	EA	9	\$500.00	\$4,500.00	\$490.00	\$4,410.00	\$1,000.00	\$9,000.00
R18	Remove Manhole	EA	2	\$500.00	\$1,000.00	\$1,100.00	\$2,200.00	\$1,000.00	\$2,000.00
R19	Crushed Surfacing Top Course	TN	242	\$37.00	\$8,954.00	\$61.40	\$14,858.80	\$6.00	\$1,452.00
R20	Crushed Surfacing Base Course	TN	1,416	\$32.00	\$45,312.00	\$38.20	\$54,091.20	\$43.60	\$61,737.60
R21	HMA CL 1/2" PG 58H-22, per ton	TN	3,221	\$80.00	\$257,680.00	\$74.95	\$241,413.95	\$84.00	\$270,564.00
R22	HMA for Approach CL 3/8" PG 58H-22	SY	223	\$28.00	\$6,244.00	\$27.50	\$6,132.50	\$55.00	\$12,265.00
R23	Cold Plant Mix for Temporary Pavement Patch	TN	19	\$175.00	\$3,325.00	\$165.00	\$3,135.00	\$200.00	\$3,800.00
R24	Adjust to Grade	EA	3	\$250.00	\$750.00	\$615.45	\$1,846.35	\$1,610.00	\$4,830.00
R25	Adjust Existing Catch Basin, Furnish new Frame and Grate	EA	13	\$450.00	\$5,850.00	\$1,725.00	\$22,425.00	\$1,610.00	\$20,930.00
R26	Adjust Existing Manhole	EA	22	\$250.00	\$5,500.00	\$1,261.50	\$27,753.00	\$1,180.00	\$25,960.00
R27	Adjust Existing Valve Chamber to Grade	EA	24	\$318.00	\$7,632.00	\$895.00	\$21,480.00	\$835.00	\$20,040.00
R28	Catch Basin Type 1	EA	15	\$900.00	\$13,500.00	\$970.00	\$14,550.00	\$1,930.00	\$28,950.00
R29	Catch Basin Type 2, 48 In. Diam.	EA	1	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$3,700.00	\$3,700.00

Description: Street Initiative Package #12

Specification No.: PW18-0210F

				#3 Bidder Ceccanti		#4 Bidder Miles Resources		#5 Bidder Tucci & Sons Inc	
Item	Description	Unit	Quantity	Unit Price	Amount	<b>Unit Price</b>	Amount	<b>Unit Price</b>	Amount
R30	Manhole 48 In. Diam. Type 1	EA	4	\$2,100.00	\$8,400.00	\$3,950.00	\$15,800.00	\$5,000.00	\$20,000.00
R31	Manhole 60 In. Diam. Type 1	EA	1	\$4,700.00	\$4,700.00	\$5,200.00	\$5,200.00	\$7,400.00	\$7,400.00
R32	Manhole 48 In. Diam. Type 3	EA	1	\$2,500.00	\$2,500.00	\$3,650.00	\$3,650.00	\$3,250.00	\$3,250.00
R33	Manhole Additional Height 48 In. Diam. Type 1	LF	3	\$500.00	\$1,500.00	\$460.00	\$1,380.00	\$500.00	\$1,500.00
R34	Reconnect Existing Sewer Pipe, 8-In. Diam., to New Structure	EA	3	\$650.00	\$1,950.00	\$1,050.00	\$3,150.00	\$1,300.00	\$3,900.00
R35	Structure	EA	2.0	\$875.00	\$1,750.00	\$1,275.00	\$2,550.00	\$1,500.00	\$3,000.00
R36	Connect New Sewer Pipe, 12-In Diam., to Existing Structure	EA	2	\$250.00	\$500.00	\$670.00	\$1,340.00	\$1,000.00	\$2,000.00
R37	Connect New Sewer Pipe, 8-In Diam., to Existing Structure	EA	1	\$250.00	\$250.00	\$700.00	\$700.00	\$1,000.00	\$1,000.00
R38	Pothole Existing Utility	LF	15	\$370.00	\$5,550.00	\$137.50	\$2,062.50	\$255.00	\$3,825.00
R39	Abandon Existing Manhole	EA	1	\$500.00	\$500.00	\$1,150.00	\$1,150.00	\$1,200.00	\$1,200.00
R40	Plugging Existing Pipe	EA	1	\$500.00	\$500.00	\$519.50	\$519.50	\$300.00	\$300.00
R41	CDF for Pipe Abandonment	CY	8	\$350.00	\$2,800.00	\$930.00	\$7,440.00	\$1,200.00	\$9,600.00
R42	Temporary Storm Sewer Bypass	LS	1	\$16,000.00	\$16,000.00	\$13,800.00	\$13,800.00	\$5,000.00	\$5,000.00
R43	Temporary Storm Sewer Bypass plan	LS	1	\$100.00	\$100.00	\$875.00	\$875.00	\$500.00	\$500.00
R44	Removal and Replacement of Unsuitable Material Incl. Haul	CY	823	\$75.00	\$61,725.00	\$73.00	\$60,079.00	\$81.00	\$66,663.00
R45	Ductile Iron Sewer Pipe 8 In. Diam.	LF	16	\$56.00	\$896.00	\$78.00	\$1,248.00	\$100.00	\$1,600.00
R46	Ductile Iron Sewer Pipe 12 In. Diam.	LF	37	\$68.00	\$2,516.00	\$85.00	\$3,145.00	\$160.00	\$5,920.00
R47	PVC Storm Sewer Pipe 12 In. Diam.	LF	1,038	\$84.00	\$87,192.00	\$50.50	\$52,419.00	\$97.70	\$101,412.60
R48	Testing Sewer Pipe	LF	1,091	\$4.00	\$4,364.00	\$5.70	\$6,218.70	\$3.00	\$3,273.00
R49	Erosion/Water Pollution Control	LS	1	\$7,200.00	\$7,200.00	\$35,950.00	\$35,950.00	\$5,000.00	\$5,000.00
R50	Stormwater Pollution Prevention Plan (SWPPP)	LS	1	\$100.00	\$100.00	\$875.00	\$875.00	\$500.00	\$500.00
R51	NPDES Construction Stormwater General Permit	LS	1	\$1,500.00	\$1,500.00	\$5,085.00	\$5,085.00	\$500.00	\$500.00
R52	Site Restoration	LS	1	\$17,000.00	\$17,000.00	\$25,900.00	\$25,900.00	\$40,000.00	\$40,000.00
R53	Cement Conc. Traffic Curb and Gutter	LF	. 1,152	\$26.00	\$29,952.00	\$24.50	\$28,224.00	\$32.00	\$36,864.00
R54	Poured Monument	EA	2	\$1,200.00	\$2,400.00	\$1,230.00	\$2,460.00	\$1,200.00	\$2,400.00
R55	Cement Conc. Sidewalk	SY	306	\$52.00	\$15,912.00	\$78.50	\$24,021.00	\$120.00	\$36,720.00
R56	Cement Conc. Curb Ramp	EA	44	\$100.00	\$4,400.00	\$1,893.00	\$83,292.00	\$3,075.00	\$135,300.00

Description: Street Initiative Package #12

Specification No.: PW18-0210F

Bid Opening: 7/31/18

				#3 Bidder Ceccanti		#4 Bidder Miles Resources			idder Sons Inc
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	<b>Unit Price</b>	Amount
R57	Cement Conc. Curb Ramp with Asphalt Gutter	EA	6	\$100.00	\$600.00	\$1,893.00	\$11,358.00	\$3,075.00	\$18,450.00
R58	Permanent Signing	LS	1	\$13,000.00	\$13,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
MA SECTION	ROADWAY IMPROVEMENTS TOTAL (R1-R58)				\$1,276,531.00		\$1,449,532.79		\$1,595,462.80
SCHEDU	ULE B: WASTEWATER IMPROVEMENTS								
WW1	Project Redline Drawings	LS	1	\$500.00	\$500.00	\$1,755.00	\$1,755.00	\$500.00	\$500.00
WW2	Mobilization	LS	1	\$12,000.00	\$12,000.00	\$2,065.00	\$2,065.00	\$5,000.00	\$5,000.00
WW3	Project Temporary Traffic Control	LS	1	\$24,000.00	\$24,000.00	\$10,145.00	\$10,145.00	\$10,000.00	\$10,000.00
WW4	Structure Excavation Class B	CY	806	\$45.00	\$36,270.00	\$21.00	\$16,926.00	\$11.00	\$8,866.00
WW5	Shoring or Extra Excavation Class B	SF	6,870	\$5.00	\$34,350.00	\$1.40	\$9,618.00	\$0.25	\$1,717.50
WW6	Cold Plant Mix for Temporary Pavement Patch	TN	10	\$160.00	\$1,600.00	\$165.00	\$1,650.00	\$250.00	\$2,500.00
WW7	Manhole 48 In. Diam. Type 1	EA	1	\$3,100.00	\$3,100.00	\$7,150.00	\$7,150.00	\$5,000.00	\$5,000.00
WW8	Reconnect Existing Sewer Pipe, 8-In. Diam., to New Structure	EA	1	\$2,200.00	\$2,200.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00
WW9	Connect New Sewer Pipe, 8-In Diam., to Existing Structure	EA	3	\$3,200.00	\$9,600.00	\$750.00	\$2,250.00	\$500.00	\$1,500.00
WW10	Pothole Existing Utility	LF	15	\$370.00	\$5,550.00	\$137.50	\$2,062.50	\$255.00	\$3,825.00
WW11	Temporary Sanitary Sewer Bypass	LS	1	\$24,000.00	\$24,000.00	\$13,800.00	\$13,800.00	\$20,000.00	\$20,000.00
WW12	Temporary Sanitary Sewer Bypass plan	LS	1	\$100.00	\$100.00	\$440.00	\$440.00	\$500.00	\$500.00
WW13	Removal and Replacement of Unsuitable Material Incl. Haul	CY	740	\$77.00	\$56,980.00	\$91.00	\$67,340.00	\$120.00	\$88,800.00
WW14	PVC Sanitary Sewer Pipe 8 In. Diam.	LF	340	\$296.00	\$100,640.00	\$220.00	\$74,800.00	\$194.00	\$65,960.00
WW15	Testing Sewer Pipe	LF	340	\$4.00	\$1,360.00	\$5.40	\$1,836.00	\$3.00	\$1,020.00
WW16	Remove Existing Pavement, Type II, Class T	SY	290	\$72.00	\$20,880.00	\$125.00	\$36,250.00	\$70.00	\$20,300.00
	WASTEWATER IMPROVEMENTS TOTAL(WW1-WW16)				\$333,130.00		\$249,587.50		\$236,788.50
	10.1 Sales Tax (WW1-WW16)				\$33,646.13		\$25,208.34		\$23,915.64
	WW TOTAL				\$366,776.13		\$274,795.84		\$260,704.14
	TOTAL BID (ROADWAY & WASTEWATER)				\$1,643,307.13		\$1,724,328.63		\$1,856,166.94
	SBE TOTAL (Less Sales Tax)				\$1,609,661.00		\$1,699,120.29		\$1,832,251.30

<sup>\*</sup> Correction made to Bid Item Total and/or Bid Total Amount

Combined Master Bid Tab - PW18-0210F PAGE 6 OF 6